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Abstract

In this search we discussed the integration in general ,bilateral integration in
particular , we discussed several concepts through research in second chapter ,we
presented an integration to integration and its definition , and then we dealt with
some integration formulas ,we also dealt with some general forms of integration
,as wellas methods of integration of fragmentation and integration of
compensation .

In third we examine the dualintegration in the term of necessity of dual integration
in the relation of failure of normal integration in case of function defined by tow
variables such as the function f(x,y) in region (r) at level x, y as wellas the failure of
normal integration in the case of finding the area ,surfaces, volumes and others .

In this chapter we also discussed the properties of binary integration as well as the
theory Green in the level and the theory of Stokes then we also dealt with some
integration application such as size, area, mass, center of mass.
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